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0.58. Possible
explanation: - equals
0.5 or 0.50, which is
less than 0.58

0.67. Possnble
explanatior
equals 06, Whl(h is
less than 0.67

—3 Possible
explanation: — 3is
0.75 which is greater
than —0.8

—12 possible
explanation: —1 %

is —1.4 which is
slightly greater than
—145.

—0.745. Possible
explanation: —0.745
is slightly glea&er
than —
is sllghily less Ihan

=

15. Order the following numbers from least to greatest.

1
—1275 —-12 —< —1.027 -1
3
—1,-1215,-10,-12,— 02§7
16. Which of the following numbers are less than 70_4?0 9 1
9 2 1T
—048  -039 -3 -3 -3

For Exercises 17-22, identify which number is greater. Explain
how you found your answer.

17. Jor058

18.0670r3

19 —F0r—038

20— 1450r—12
0745 or =32

22. —0.875 or —0.578 —0.578. Possible explanation: —0.578 is
further to the right on a number line than —0.875.
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